
大连叉车有限责任公司
 DALIAN FORKLIFT CO.,LTD.

序号

Item
No.

零件图号

Part No.
零部件名称

Part Description
数量

Q`ty
备注

Remark
名称 Apellation 规格 Spec

1 L91273-21200D 手柄球 Knob 1

2 30XDB6820000 操纵杆组件（B）
Lever, Tilt(B)

1

3 30XDB6800006 操纵杆托架

Bracket Lever
1

4 FZ-1.16.37 衬套 Bushing 2

5 GB5781 螺栓 Bolt M8×25 4

6 GB97.1 垫圈 Washer 8 8

7 GB859 垫圈 Washer 8 4

70

分配器操纵
Valve Control System



叉车零件目录
 FORKLIFT PARTS CATALOGUE

序号

Item
No.

零件图号

Part No.
零部件名称

Part Description
数量

Q'ty
备注

Remark
名称 Apellation 规格 Spec

8 30X6800005 薄垫片 Shim 3

9 GB5786 螺栓 Bolt M10×1.25×35 3

10 30X6800001 销轴 Pin 4

11 GB97.1 垫圈 Washer 5 4

12 GB91 销 Pin 1.6×10 4

13 GB5781 螺栓 Bolt M6×12V 1

14 30X6830000 销轴总成 Pin, Lever 1

15 30V6800002 杆 Rob 2

16 CDB2-F15 多路换向阀

Control valve
1

17 30XDB6800001 限位钢管 Collar 3

18 GB96 垫圈 Washer 10 3

19 GB93 垫圈 Washer 10 3

20 30XDB6810000 操纵杆组件（A）

Lever，tilt（A）

1    

21 L91273-21300D 手柄球 Knob，tilt 1

22 GB93 垫圈 Washer 6 1

23 GB6170 螺母 Nut M8 4

24 30XDB6800002 减震垫 Rubber 3

71


